
2007英语六级翻译题模拟训练(三十) PDF转换可能丢失图片或

格式，建议阅读原文

https://www.100test.com/kao_ti2020/284/2021_2022_2007_E8_8B_

B1_E8_AF_AD_c84_284747.htm 1.He doesn’t seem to

____________ （意识到） the coldness of their attitude towards

his appeal. 2.Majority ____________ （赞成） Golden Week

holidays. 3.Car drivers must ____________ （遵守） the rules of

driving. 4.____________ （相比较） the two companies,we see

two different points of views. 5.could you ____________ （照看）

my child? 参考答案: 1.be aware of(=be conscious of , having

knowledge or consciousness) 2.approve of (=consent to, be in favor

of, favor, agree to, consider good, right) 3.adhere to (=abide by,

conform to, comply with, cling to) 4.By comparison of 5.keep an eye
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